
<UUSUSNFU UU

nS) OFC

3UL

unpuLuqnntB3ntu N2 : ,:

( N U LS-TI O U'q p F- 1 6121 > rlp gn rlplr hrulmb p fr q0 uhu mdu 0 0[ umft

p.bplu0, Fr.uqpurrnn fiJwg 44 29.11.2016p.

<Upt ru0lr htbllnnurnpr.u0uqnprn)) OFO dtttdp'11,00

UruutrnrUonril th0'

(N UbS-qOUrlgF-16121>> 6ru6!uqpn{ rlpgnqph gOruhuunnn hu0dOudnnn{h 0utfuuquh
Uupur0ruq 'lbunpnu.pu0p, nr04url0bp an{b0 Uur$up1ut0p, Upbpun 'IulquupltultS, Upubtt
U u$ul p1 ruU p, ptu p un n rqu n Up u d Lt 

ft p u I n u.; ut 0 p :

OnruLrurnq- (N Ubs-rlOUrlpF-16/21) 6rudlluqnnd dngnUph huiJLnbnh q0uhuLndul0

urhU.,lbunpnu1ru0phu1rnrrrpupbg,rlnhr.uJrnh0bpL1ru1tugpb11
rJtuu0ruL.;frg:

1.1 (.th ! UngnqL>U'nC -p. bnLlultr PurlpurllruL 23 38, hbn,010-58-75-85

2. flrunrrl0uuhnbtnrl dngnr1ph hulrnbp[r 6purp0bpp, 4pr.u0gnrrl qun0r{nr1 rJrruurnr"upqpbnn t
1prugOb1n{ pbnphU0bpp /L1g{nril b0/ hut0d0udnqn{p bqpultugnbg, nn'

2,1 (.{h ! Ungnr2tr>UrlC -h 0bnUuttugprud
wl rlngnr.lph hurlnp qr.upnr0r.u!nr1 6nunn Lluqd{u6 1.. 0bpLlutltugtltu6 h rlpgnqpfl
hnu{bnh quhu0gttbpfr0 hut rltuqumuufutu0
p/ hrulnfr 6prupnrd urnllr.u b0 dpgnqph hnu{bnn{ qr,uhtuOg{nq pntnn {ruuumupqpbnn l,
hruduuqurmruufuu0nrrl b0 rJpgnrlpfr hputtlbpn{ uuhrJu0tlt-u6 quhu090bpft0
ql runugr-uplrlu6 q0du0 unupLlu;fr unbfu0frutQutllu0 huunQuu0ftZ0bnn
hrudruquunr.uufuru0nrd b0 rlpgnrlph hnu{bpn{ uuhrltu0tltu6 0tluquqntl0 quhut0g0bnh0
004nr0{b1 | npn2nrd' tlnqd - 4, 4htI - 0

3. 1-'b p L1 tu1 ur g rl b g d r.n u 0 ur L1 fr g 0 b p I u n u g ut p tt tl ut 6 q 0 b n n

3.1 (.th ! UngnqL>U'qC - h ObnUultugpu6

1 6201-2RS CX 604,8 4putl

2 6203-2RS MTM 1209,7 4nruil

3 6204-ZZMTM 1209,6 4prurl



4 6205-22MTM 1209,6 rlFunl

5 6206-2RS CX 2404,8 qllrud

6 6208 2RS MTM 3600 rlpurtl

7 6303-2RS MTM 2404,8 4luxli

8 NA49O7 MTM 10080 ryrunl

9 6207-ZZMTM 2880 4puril

10 6210.2RS MTM 6004,8 4puril

11 6305-2RS MTM 2404,8 qlruril

12 6306.2RS MTM 2995,2 rlFruil

13 6307-22 MTM 3600 4prutl

14 6308-2RS MTM 7200 4pruri

15 6313-ZZ MTM 20160 4punl

16 6413 MTM 45600 \F(ud

17 7815 rn3 33609,6 elrrrril

18 30308 MTM 6004,8 4lrulil

19 30312 MTM 13104 4prxil

20 32310 MTM 18000 q1ruil

21 32313 MTM 24000 qtuil

22 51208 CX 1440 qprud

23 51210 CX 3120,5 4fluil

24 6-180580 flt3 4204,75 4puril

25 804704 rrl3 576 4pruil

26 62202-2RS MTM 2160 4prurl

27 62303-2RS MTM 2880 4puril

28 51102 CX 7209,5 4puil

29 20703 frr3 2160 4punl

30 20803 fn3 2596,5 qlruil

31 6209-2RS MTM 4204,75 4prrrli



32 6203-ZZ/C3 MTM 1209,5 rlprxrl

33 6307-ZZ MTM 3600 4pruti

34 864904 fn3 3600 4punl

35 64905 Craft 2880 4pull

36 636905 fn3 1728 4puril

37 922205 rn3 2592 4pruil

38 776702Craft 8640 4prurl

39 32309 MTM 10800 qlruril

40 32306 MTM 11232 rlpunl

41 588911 fn3 5472 4puni

42 804807 fn3 3600 4prurl

43 31308 CX 10224 rpunl

44 688811 fII3 4608 4pruri

45 330902 rn3 5760 rlpunt

47 6203-ZZ CX 1152 4purtl

48 704702 rn3 1440 4puli

49 6206-2ZCX 2405 4puril

50 3RK42x47x30E fn3 2880 4pull

51 3KK37x42x31E fn3 2592 4punl

52 50706 rn3 5040 qpruil

53 6307-N CX 5400 4puil

54 32210 MTM 4809,5 4lrulri

55 6308-2RS MTM 4809,5lFuril

56 32306 MTM 7056 4punf

57 32305 MTM 7056 4puril

58 7806 rn3 7056 4puni

59 30305 MTM 4608 4purti



4. Q0nrhtumn4 hu060udnr1n{g npn2bg'
4. 1 ( N b f S-'q CU1QF-16121 > 6ur6lnrqnnq 1 45; 47 -59 2nl.hn rprudhULbnn{ 1 -h0

mbnn qpu4bgptud 0ruu0url.4frg E dtu0rultlnrd u.th bJ Ungnl2U>U'nC-L, hutt 46-nr1

2nl.hruptudtrn{ tlpgnqpp hn4muupnrp{nld b 2l4tn1nrgm6, purLfl nn nl dfr hrulm 2[r

trbpl4nrlnrgtl{ :

' O04nr0{bt t nnnznr0' lnr1il - 4, / (
(tu060utdnrlnqh 0ruluuq 'VZ/4 

U, qbtnpnulu6

tu04tu tu$rup1tu0

urqurplr.nlr

ru{pruplrulr

pufimnqurn' _4 frpullnuyur0

I

I


